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Midterm Exam

IOM580 – Project Management
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Instructor: Hiroshi Ochiumi
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This exam consists of 6 questions. All together the exam has a maximum of 50 points.

There are 6 pages including this page.

This is an open-book, open-notes exam. You may use a simple calculator.

No laptops. No PDAs.

Sharing materials with other students is not allowed.

You may earn a partial credit for each question unless otherwise noted. Show your work completely!

Do not be tempted to seek “inspiration” from a neighbor’s exam. Poor scores can be overcome, but cheating will be dealt with harshly!

Please sign here to indicate that you have adhered to university policies regarding ethical behavior in preparing for and completing this exam.


1) It is said that planning, budgeting, and scheduling are not separate, but are parts of the same process. Explain how so. (7 points)
2) Explain how Boeing is controlling/limiting financial risks. (7 points)
3) Project managers face greater difficulty in scheduling and resource allocation when the organization is involved in multiple projects. Explain why/how. (7 points)
4) 
[image: image1]Consider the above simple project. The table below shows the mean and variance of the duration of each task. What is the probability that you will finish the above project within 28 days? (7 points) 
	Task
	A
	B
	C

	Mean
	5
	12
	7

	Variance
	2
	4
	3


5) Consider the following project. 


[image: image2]
The duration of Task A is normally distributed with mean 10 days and standard deviation 3 days. The duration of Task B is normally distributed with mean 15 days and standard deviation 4 days. Task C has a deterministic duration of 10 days. Assuming distributions of tasks are independent of one another, how long, on average, does it take to complete the above project? Circle one and explain. (7 points)
a) longer than 25 days on average.
b) exactly 25 days on average.
c) between 20 and 25 days on average.
d) exactly 20 days on average.
e) shorter than 20 days on average.
Explain.

6)Using the following information, we want to develop the optimal time-cost solution. Assume all the durations are deterministic.
	Activity
	Immediate Predecessors
	Normal Time (days)
	Crash Time (days)
	Cost per Day to Crash ($)

	A
	-
	4
	4
	-

	B
	A
	8
	7
	200

	C
	E
	10
	8
	250

	D
	A
	6
	5
	300

	E
	B,D
	3
	1
	700

	F
	E
	9
	5
	350

	G
	C,F
	3
	1
	800


a) Draw the CPM diagram for this project. Make sure you label activities A through G. Use arrows, not lines. If you use lines, I will have to take some points off. (4 points)
b) Using normal times, identify the critical path. Show your work. (5 points)
c) Our client asked us to shorten the total duration of the project by 3 days, at the minimum cost. What is the sum of the crash costs? What are the activities that you crashed at each step? Show your work completely. (6 points)
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